
Unit 1 Review

c) 2900 ft

a) 10.0005 g

1. Give the number of significant figures in each of the following.

b
b) 0.003423 mm Lf

L
1__

1747

0.~84

256~QQQQQQ

2. Determine the answer for each of the following. Be sure to use the correct number of significant figures.
I I

a) 2~:~6 tr71~ b)_~:~~;3_ -I 95 J7
+ 13.121- I ,) ~ ~
47)&4 G5b 0 . 1tJJM2J

c) 0.32 x 14.50 x 120~-7~ d) 24.1 I 0.005 ~ Ljq,I'.D --;>lsQCO]
3. Convert each of the following ill 0 correct scientific notation.

t. 747 tiD;;
9/~4dO-b

. 3. LOW tclO&
t IOLi:J~O-_1 _

2/ I 6£ X \~r2'_'b _

4. Express the following riumbers in scientific notation.
a). 810,000 g b). 0.000634 g c). 60,000,000 g

5. State tile~~~JlR~.ficant mgitsL?t~~£~)measurements. b flO ~
a). 3218 kg b). 60.080 kg c). 0.000534 kg

L{ 6 3
6. Add/Subtract as indicated and round the answer using the correct number of

significant digits. tl9 q/ -"> En ()~
a). 85.26 g + 4.7 g () , I/O - / /U I

. .

b) L07 Ian + 0.608 km Lb7g -:, [/. b~kr]
-----

c). 186.4kg-57.83 kg 1l16,0 7 ~. IlCZ'b)(



7. Multiply/Divide as indicated and rOlmd the answer using the correct number of si cant digits.

ll/510 y\\L

I .~X f0-7 ~ J¥"-z-

, "

a). (5,108m)(4.2107m) 2J50f1>.2S5b ~
45,

b). (L~x!6-2km)(8'Ll0"km) )4,lq5110-~ --}
_____-----1

l4144~IOf --:r L,4 'flOg' LVil
L4 ~

c). (2.6x 10 cm)(9.4x 10" em)
, " -'7••....... {.;-

8. Use the following data about the distance a dog has walked away from his doghouse to make a graph using
the graph paper on the following page: .

I' ,

Time 0 5 10 15 20 25 30 35 40
(s)

Distance 0 4 8 12 25 20 ,15 10 0
(m)

9. Based on your graph, approximately what distance is the dog from the doghouse after 17 seconds?

Abaci i7 s (~
10. Based on your graph, approximately at what time(s) is the dog 7 m away from the doghouse?

11. Use the following data about the speed a car is driving to make a graph using the graph paper on the
following page:

Time 0 2 4 6 8 10 12. 14 16,
(s)

Speed 0 7 14 21 28 35 42 42 42
(m/s)

12. Based on your graph, what is the slope between 0 seconds and 12 seconds? What are the units of the slope?

4L~O t
~O 3, £ m/s / ~ , I

13. 'tNhat happens to the speed after 12 seconds?

-,
fri:;;;~ by j:,\'.~~l r...l.:.:li?, i':lt: ~.: ::'2, :'::'1:1 ;':11:';'1 ~~
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14. The two lines above are identical, but are being measured with two different rulers. Write down your best
report for the length of the line as measured with each ruler. Are your measurements different? If so, why? I

~p :2. 3-+ 0 L~c-," 1k1 CdL )J+~MJ ~ & bOfl-oM
tdkrJ\ .1...?S;: 0,Ol-;(.(V\ i(f,lef ~ "VLS ()- yrtofL 8rW5 {V\~(YlIJ)t-

16. Which ?fthe above.rule~s would give a mo~e preci~measurement? Why? . -1-)J
1k. bJJr,r\ Mer' $ f"OfL pr'l-U"C J...j- eM! (V'ljjLjJ.ft. -it> .JiL TIePJU, ~-fj"

ot ~ CJ'fI, lCA-&r ~r ~i- Y\W1e-rJ hcJf ern.

17. Which of the above rulers would give you a measurement with less uncertainty? Would either I:tleasurement

haven&lrrt~~~~ul~:~lascntl~;h~~~:C~1amtyL-1-borA wo~ll 6-1-111
mum " 1/"''7; I _ ' " ~

~ SOt1\L (,LI"(,tf"~ (\+7', tV (J fI'.wsLUe,l~/\-U1:~ C/}.I\ VJU" Y\£WL lefo ().J\Urtc;M r'\; /

18. Why is it important to make a measurement multiple times, rather than just measuring once?

en-6W1, J r't1 iJ.H., pic.. .j-;~5 UH't r4w- ~ I\+y bl .fvllI\j G<-fI

(J)}e.JJ e.- ,
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